Calculator Trial & Improvement

AT2 L6

Solve the following equations by trial & improvement to 1 dp.
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Solve the following equations by trial & improvement to 2 dp.
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Solve the following equations by trial & improvement to 1 dp.
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Solve the following equations by trial & improvement to 1 dp.
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Solve the following equations by trial & improvement to 2 dp.
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x2=12
x2=30
x2 =200
x2 =1000
x2=28

x2=20
x2 =60
x2=5
x2=120
X2 =700

x2+x=35
x2+x=70
x2-x=5

x2-x=120
X2+ 2x =52

x3=10
x3=35
x3 =60
x3 =100
x3=1150

x2=15
x2+Xx =40
x3=4
X2+ 2x =40
x3+x2=70



